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The Torah prohibited Esnahn, and even if it was with his mother

Overview

X217 stated that 710X is prohibited on the mam even if he paid it to his mother. The
prohibition of 71X is only if it is payment for services rendered (meaning that he
owes her the money and she can take him to court if he refuses). However anything
that is given to the 7117 as a gift (which he is not obligated to give) is not considered
1nX and is "Mn» for the nam. Seemingly, if he paid his mother 710X, even though
legally he is not required to pay her on account of n"2%p,% and if she would take him
to 72 he would not be made to pay (so it would seem that this payment is voluntary
and not subject to the rule of 71nX), nevertheless X217 maintains that this payment is
considered 711nX. Our M20N discusses from where does &27 derive this ruling.

nvoIN asks:
= N DY NINT N

It is astounding! For how does X237 know this that even by mx v X277 it is considered
1ANR, perhaps indeed it is not 130X, on account of »n"2%p, and he is not obligated to pay her?!

MO0 answers:
= 19959 4317 99N13) 295 )INNRT (0w 3,00 97 MN%) 3INNAY HY NAN 9INRT DIVN DIVIDN YN

And others explain that X117 knows this because there is a mwn cited in ¥ 8277 P9
yn22d that 292 330X and 72337 997% are permitted to be brought on the mam -

= NYAIN N SNV D) 1NN
Since it is written ‘even the two of them’, but not four of them. This concludes the

nawn -
= 593N M RINY ONND NYUNI NN ¥IY NN XINY 2D )INN VYN

110X is the payment given to a woman for her intimate service. If the payment was an animal, it cannot be brought as
a 127p, for the 70 writes (in ©°,32 [RXN] 0°7127) 277w 23 X" N2AYIN % 73 297 K" 002 292 M) 77 JINR R°2N0 K.
2 He becomes obligated to pay when they have relations, and since it is with his mother, he is inn 2, therefore he
is Mo from paying her on account of n"2%p.
3 It is not clear why mooin did not cite the mawn directly from X,% 770,
41275 710X means that one paid the owner of a dog for the right to perform bestiality with the dog (for which one is 27
nnm). If the payment was with an animal, it is permitted on the narn. 7117 °nn means he traded his 7now who was a
n17 for a sheep, this sheep is also permitted.
5 See footnote # 1.
¢ If by a woman ,when there is a n°n 21 (like X 9 R377), there is no 110X M0°X on account of »"2%p, why is there a
need for a P09 to exclude 295 1InR, since there is a 7n°» 211 there as well. This proves that by a woman there is an
JINR M0°X even if there is a 0’ 21°1, but nevertheless the 77N excludes 292 70K,
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So since the mwn excluded 292 3anX, where he is executed, we can derive that if
the same situation would be with a woman like his mother (not a 2%2) it would be
JINR, even though he is 0 2>°1. From this 827 derives that 18 ¥ X2 59X 7770 770K 30K —

mooIn disagrees:
= 7WHY KDY DMWY 9IN 29N DAY NYIIN NI 29N 9 YONRT NT WINO AN PN

And this explanation does not appear to be correct, for does it then state, ‘and

not four’ it merely states, ‘both’, so we can say, ‘both, but not three’ -
= 11997 99NN NON 0IYNY NON NI

And the ?109, which states o7°3w is only coming to exclude the 7297 95, however
by 275 130X we know without a 105 that it is not 110X, since he is not obligated to pay for it, on
account of n"a%p.

moon offers his explanation:
= 25057 NN TNV PN F9PrYT DIVN WY NN

And the explanation appears to be because the main prohibition of JinR was
written concerning an 110X which was given to a woman who is forbidden because

of nyy -
= 125y 1599 229903 )INN 22)T NINT (0w 3,05 97 nanm) PDINIONN DI P92 NIMTS

As it is evident in 2790K77 %5 P1p that the term 7397 regarding 330X is discussing a
717 who is one of the ninsao s2%»n —

MooIN asks:
= 13NN 2ININ TON 29 N1IJT 9NN ON)

And if you will say; perhaps when did the 790 prohibit offering the J1nR on the

nam even by Ny, only in case where -
= D51 2NN XY XINNAT 733 OY 235W) NT NHV 1Y NN NN DX NY 9MINRY D

For instance, where another person told the 7177, ‘here take this sheep and lie

7 Even though the mwn states yaIxX 891 0w, it could mean that the other two 71T 7 MM1 295 10X are both excluded,
but for different reasons, the 7137 7mn is excluded from oW, but 292 130X is excluded 87207 on account of n"2%p.
8 This seems to mean that there is the prohibition of 1anX in all cases (even when there is no M0°X), however the pPw
710X 17 was stated by nvav.
% n1w are basically the incestuous relationships (mother, sister, etc.) and 771 >R NWR.
10573x there derives a Mw 7> of 72N 72vIn which is written both by 71X (see footnote # 1) and by n»w (in X7
w3, [*nR]. We compare the cases of 71117 J3nX to N,
! The N1y that are mentioned in *7X Nwo are all liable for the n13 punishment which is administered by 7.
12 Therefore the basic prohibition of 7177 110X is where he is having relations with a n1n>13 *2»n (or 7"2 mn» like his
mother), where n"2%p can apply, and nevertheless the 7730 prohibits it, which proves s'®21 ruling that 7237 130K is 770K
even by MR 9v X277 (where he is not required to pay on account of n"2%p). See ‘Thinking it over’.
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with your son’, for in that case the other person is not 51n%% 23371, and only in this

case is the 130X MK apply to N1W, but not in a case of »"2%p -
= (:0W18,09 97 owW) DYNONRN T3 PI93 )INTI RIN) INND PINN T2

And the prohibition of 110X is applicable even in this instance, as the 771wn states

in 29N7 ¥ D -
- 972y HEN THNAY PYM N1 1YV 7Y NN MIND

One who say to another, ‘you take this sheep and have your maid sleep over

with my slave’ -
= 13199N 17 999 DN DIINI PINN 1PN INDIN 9ONMD 229

»''1 rules that it is not 31K, but the 2251 say that this is 31NN -
= N9V 7aya NNAYYT DIVN RN 9IRP RD 9INM 229 179N

And even 2" who argues, the only reason he maintains that it is not j1nX, is because

a ew is permitted to have relations with an >72¥ 72, so there is no 717 (but not because
the payer is a third party) -

= %90 HNAY I 90 129 D) NYN I VT Honn w97
As he explains there that if the ¥"v has a wife and children, his master may

present him with a no1wi> IMBW. The question is that even given the fact that the 77 730K is
discussing N1y where there is a 7in°n 21°1, but perhaps the payer of the 710X is not the participant
who is 70" 2»n, but a third party, so how can 827 know that 1R ¥ X2 199K 770 770K 1INK, even
if the participant is paying?!

NID0IN answers:
= 3NN DNHDA YHWN NI PAN NXAN XYT XIPT NPOYIT PNHYY 13939 NI

And the >''1 answered that the simple reading of the P05 of 330X X2 X%, indicates

that we are discussing the usual 10X -
L[N AN M1 3,1 MM 70N ] $)INN NN NIN IMIANY

Where it is the participant who gives the JINR. And since we are discussing 1™, there
is a n"2%p situation, and nevertheless it is MOR, proving that KX ¥ X2 19581 770 770K JINK.

Summary
We can derive that 710X is forbidden even in a case of n"2%p either from the fact that

the 770 excludes 275 710K (or preferably) that 71237 J30X is primarily by the N1y where
there is a 7N 2111,

13 We see (according to the 00n) that even if a third party pays the 70X, it is still forbidden.
14 %,%9.The xm3 there explains that we are discussing an 2y 72y who does not have 02121 WX, therefore the anow is
forbidden to him. n"1 can either maintain that an 72¥ is 775w2 20 even if 22121 MWK 1% X (see >"w there PR 7"7), or
alternately, since an 72¥ can be W2 N if 02121 AWR 12 ©°, it is not considered an 717 130K even if 22121 AWK 17 PR
(see "2 mawn "5 AN 2"vAn WD),
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Thinking it over

moon writes that the rule of 710X is primarily by the N1y for which there is a 211
mn>12.15 However we rule (in opposition to 171277 12 X*1171 ") that there is no n"2%p by
mn»13 °2>1, only by 7"2 mn 1 °21, so how can we derive that there is 710X by X273
MR 2y, by which there is a 7"2 nn 211 and n"2%p applies, from the N1y of "2n
mn»>3, where there is no »n"2%p?!1¢

15 See footnote # 12.
16 See 79 1121 'o1n and YW v,
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